[image: image1.emf]4


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


H3S
Honda CB900 F Hornet 2002-

Fitting kit left side:

     

       Fitting kit right side:
	ID
	Description
	Cat.no
	QTY

	1
	Dural.adapter
	318
	1

	2
	screw M10x35
	847
	1

	3
	screw M6x25
	877
	3

	4
	Screw M4x16
	876
	2


	ID
	Description
	Cat.no
	QTY

	1
	Dural.adapter
	318
	1

	2
	screw M10x35
	847
	1

	3
	screw M6x25
	877
	3

	4
	Screw M4x16
	876
	2


Instruction to assembly:
1. Installation of the protector on the right and left side make to the mounting, where joins the motorcycle frame with engine.

2. On the motorcycle frame is prepared hole with a diameter of 8mm, this hole resize drill 8.5mm and make thread M10.

3. Under the protector on the right and left side insert distance duralumin adapter ID.1 and by screw ID.2 tighten it.
4. Make assembly the sliders on this adapters. Use bolts ID.3.
5. Take aluminum cover, insert are into slide rand tighten are by bolts ID.4.
Warning: We recommend use the glue of all threads. Medium strong.

[image: image2.emf]
[image: image3.jpg]&L




[image: image4.png]


 


























































1

